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&5 X 4 ;.E.;é; 'Fﬁﬁ*ﬁh\(;bn;DEE%’E ﬁ(ﬁitrﬁ?)é X 4 Tﬁﬁﬁg@g;ﬁu z.E.;n? 73(&3:33 X 4 ‘(.é,r‘n? J:iﬁ“ﬁ;b\(i)d)tt%.‘ 7](3;3{3‘5 X 4% J:iﬁ“ﬁh\(i)d)kh%.‘ ‘(.E,:n? J‘J(ﬁl?cnié
; 100kN/ Mm% 2% - ~ - -[3mEEBER S -~ - 100kN/ Mm% 2% - -~ - -|3m%i#BZ % -~ - - -
st 1.00 | 000 ~ 104 16.23 | #nhdst | 0.00 ~ 1.04| 297 15.69 st 1.00 | 6.00 ~ 5.00 16.23 | #hst | 5.00 ~ 5.00 | 2.97 15.69
2 100kN/M%#8 % % - ~ - -|3m%E#BZ % -~ 100kN/mM%#8Z % - -~ - -|3mZE#BZR S -~ - - -
ZhLst 1.00 | 0.00 ~ 187 26.36 | Fhist | 0oo ~ 1.87)] 2.69 14.13 ZhLs 1.00|6.00 ~ 5.60 26.36 | ThS | 6.00 ~ 6.60| 2.69 14.13
3 100kN/ Mm% 2% - ~ - -|3mEEZ D -~ -| 100kN/mMZE#Z % - -~ - -|3mZEi#BZ S -~ - - -
Lt 1.00 (000 ~ 285 36.95 | Thst | 0oo ~ 285| 248 13.03 Lt 1.00 ] 5.00 ~ 6.00 36.95 | TNLS | 5.00 ~ 6.00| 2.48 13.08
4 100kN/m##8x. % - ~ - -|3m%Ei#BZ % -~ -| 100kN/ %82 % - -~ - -|3mEEBEZ S -~ - - -
Thilst 1.00 | 0.00 ~ 386 48.53 | =hst | 000 ~ 386|237 12.45 This 1.00\| 500 ~ 710 4863 | TS | .00 ~ 7.10)| 2.37 12.45
~ 100kN/ M#E#EZ % - ~ - -|3mEEZD -~ -| 100kN/ %8 % % - -~ - -|3mEREZD -~ - - -
° ThnLlst 1.00 | 000 ~ 6.69 84.53 | TN | 0oo ~ 669 2.70 14.17 Thn st 1.00 | .00 ~ 11.60 84.53 | ENLS | 6,00 ~ 1160 2.70 14.17
6 100kN/ M%#B% % - ~ - -|3mEFEZD -~ -| 100kN/mM%##8% % - -~ - -|3mZFEZD -~ - - -
Fhnst 1.00 | 0.00 ~ 6.69 84.53 | TNLSY | 000 ~ 669 2.70 14.17 st 1.00 | 6.00 ~ 1160 84.53 | NS | 5,00 ~ 1160 2.70 14.17
- 100kN/M%E#8 x5 - ~ - -|3mZiBR S -~ 100kN/mM%#8Z % - -~ - -|3m%Ei#BZ % -~ - - -
Zhst 1.00 | 000 ~ 746 95.31 | ThLst | 000 ~ 746\ 2563 13.256 TnLs 1.00 | .00 ~ 1160 95.31 | #hs | 6.00 ~ 11.60] 2.63 13.25
P 100kN/ Mm% %% - ~ - -|3m%#BZ % -~ -| 100kN/ %825 - -~ - -|3mZEi#B RS -~ - -
Lt 1.00 000 ~ 765 9801 | =hUs | 000 ~ 765)| 2.54 12.26 Thist 1.00 | 5.00 ~ 10.60 98.01 | =nLSY | 5,00 ~ 1060)| 2.54 12.26
9 100kN/m##8% 5| 1.00 | 0.00 ~ 0.60| 10890 |3mEFBZ5 -~ -| 100kN/mM%#B=25% | 1.00 | 1065 ~ 1244 10890 |3m%E#z5 -~ - - -
Lot 1.00 060 ~ 838 100.00| Thsn 000 ~ 838|211 11.08 ZhnLst 1.00 ] 5.00 ~ 1065 100.00| ThS | 5,00 ~ 1244| 211 11.08
10 100kN/ m##8 2.5 - ~ - -|3m%E#BZ S -~ -| 100kN/mM%#BZ% - -~ - -|3mZE#BZ S -~ - - -
ZThLst 1.00 (000 ~ 104 16.21 | #hes | 000 ~ 104|297 15.60 ZThLs 1.00 ] 5.00 ~ 5.00 16.21 | =nst | 5,00 ~ 5.00)| 2.97 15.60
100kN/ M#%#BZ % ~ ImEREZD ~ 100kN/mM#%#BZ 5% ~ ImEREZD ~
ZFhLst ~ zhus ~ ZFhLst ~ zhus ~
100kN/ Mm% 2% ~ ImEHERD ~ 100kN/ Mm%z % ~ ImEBZD ~
Rt ~ zhus ~ RS ~ zhus ~
100kN/M%#8Z % ~ 3mERBZD ~ 100kN/mM%#8Z % ~ ImERBZ D ~
ZhLst ~ zhusn ~ Zhs ~ zhs ~
100kN/ Mm% 2% ~ ImEFEZD ~ 100kN/ Mm%z % ~ ImEEZD ~
Zn Lt ~ Zh st ~ Zn st ~ ZhLlst ~
100kN/ m##8x. % ~ ImEBZD ~ 100kN/ Mm%z % ~ 3mEHBR D ~
Zn Lt ~ Zh Lot ~ Zn Lot ~ ZhLIsh ~
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